PhyzJob: Composition Classics EEL|X
From Rectangular to Polar Coordinates _ .
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Write all the displacement vectors above in rectangular form and then convert to polar form (magnitude
and angle). Each squareis 1.0m by 1.0m. All x—and y—components have integer values.

a= (4.0m, 7.0m) a=vV(a’+a?)
a=v((4m)2 + (7Tm)?)
a= (8.1m;60°) a= 8.1m
b= (~10m, —tm) b=vb2+h?
(10.0m; 186°) b = V((=10m)2 + (=1m)2)
b= 10.0m
c = (-5m, 5m) c=vc2+c?
(7.1m; 135°) ¢ = V((-5m)2 + (5m)2)
c= 7Im
d= (7m,-4m) d=vd?2+d?
(8.Im; 330°) d = V((Tm)2 + (=4m)?)
d= 8.Im
e= (12m, 7m) e= \/eXZ + eyZ
(14m; 30°) e = V((12m)2 + (Tm)?)
e= 14m
f= (8m,0m) f=vi2+f2
(8.0m; @) f=V((8m)2 + (Om)?)
f= 8.0m
g = (Om, 4m) g=vg2+g2
(4.0m; 90°) g =V((Om)2 + (4m)2)
g= 4.0m

6 = Tan-(a/a,)
0 = Tan-1(7m/4m)
0 =60°

6=Tan™ (b,/b))
6 = Tan™{(~Im/-10m)
6=186°

6=Tan™ (c/c,)
6= Tan! (5m/-5m)
0=135°

6= Tan™(d/d,)
6= Tan (~4m/7m)
6=330°

6=Tan™ (e, /e,)
6= Tan™ (Tm/12m)
6=30°

6=Tan™ (f/f)
6= Tan1 (Om/8m)
60=0°

6= Tan™ (g,/9,)
6= Tan (4m/Om)
0=90°

C=(\'TW: T3R,) 6= (T¢W:30,) @=(30wW: 30o)
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